Using the Activity Series
The activity series is used to determine whether or not single displacement reactions will occur.  
The more reactive elements are higher on the activity series and the less reactive elements are lower.  
[bookmark: _GoBack]The element that is part of a compound MUST be higher up on the activity series than the element that is not bonded.  If the element that is part of the compound is LOWER on the activity series than the element that is not bonded, the reaction CANNOT occur and we write NO REACTION.  
[image: http://1.bp.blogspot.com/_8RHzyAodrNI/TUPMiEv7DSI/AAAAAAAAADU/Qh-12iiatCw/s1600/activity+series.jpg]
*Note that HYDROGEN is on the metal side because H+ is the cation in acids such as HCl.



Write the products of the following single displacement reactions.  If no reaction occurs, write NO REACTION.

1. Mg(s) + Al2O3(s) → 



2. Fe(s) + H2SO4(aq) → 
(Fe will form a 3+ ion)
 


3. Cl2(g) + HBr(aq) → 



4. Sn(s) + CuBr2(aq) → 
(Sn will form a 2+ ion) 



5. Cu(NO3)2(aq) + Ag(s) → 



6. Zn(s) + MgCl2(aq) → 



7. Na(s) + HCl(aq) → 



8. KI(aq) + Cl2(g) → 
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